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7.3-7.4 Review
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Evaluate each logarithm. T
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Graph each logarithmic function. State the domain, range, asymptotes and thezx-intercept.
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Describe the transformations for the following graphs. q ]o
11. y = 2loge(x + 1) -5 12. y =loga(x —4) +1
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Write each equation in exponential form. i
13. 10g4 256 = 4 14. 10g7 1=0 15. logﬁa = 0
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Write each expression as a single logarithm.
19. logs 4 + logs 3 20. (log3 —log4) —log?2 21. 2logx —3logy
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22, 110gx+llogy Zlogz 23. 110gr+110g5—110gt 24. logs y — 4(logs r + 2logs t)
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Expand each logarithm. Simplify if possible.
25. log 7(3x — 2)? 26. logs 5x~° -5

wai (Sx—.;)}
lo io?(sx—&) miog; o +l£g5
;@3@& 005 & -5l X

| | - 5loge X
ézﬁé%ii’imq x>+ Joa L P
99 5%~ 10g
0(3\0 +3logx +|0f3\6_ (\03 6%\03@ (ogw Hog\ér)

Use change of base formula to evaluate each expression. Round to the nearest thousandth.

29, log; 5 |0 5 30. log; 15 31. logg 17
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Determine if each statement is true or false. Justlfy your answer with your work.
32. log12 = log4 +log 3 33. Io gi :ogz
log 13 =  109(4-3) 2o e o 1092
-} -
|(%ua— log'la v~ T ! 109 e 5 109 S X Falsx
Use the properties of logarithms to evaluate each expression.
34. log; 8 + log, 4 35. log; 160 — log, 5 36. loge 27 + log, 8
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